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Roll No. 
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SCIENCE 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear/Improvement/Additional Candidates) 

[ Only for Visually Challenged Candidates ] 

le; : 4 ?k.Vs ] [ iw.kk±d : 60    
Time allowed : 4 hours ] [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 32 gSaA  
 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 32 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k elEcU/k elEcU/k elEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
  All questions are compulsory. 
 (ii) çR;sd ç'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
  Marks of each question are indicated against it. 

 (iii) ç'uksa ds mÙkj muds vadkuqlkj nsaA 
  Answer the questions according to their marks. 

[k.[k.[k.[k.M M M M – vvvv    

SECTION – A 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½    

(Physics) 

  1. xksyh; niZ.k ftldk ijkorZd i`"B vanj dh vksj ofØr gS] og -------------- dgykrk gSA 1 

 Spherical mirror whose reflecting surface is curved inwards is called                

a …………… . 
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  2. fo|qr~ 'kfDr dk ek=d gS % 1 

 (A) vkse (B) okWV 

 (C) oksYV (D) vkse-ehVj 

 The unit of electric power is % 

 (A) Ohm (B) Watt  

 (C) Volt (D) Ohm-Meter 

  3. dkSu-lk ;a= foHkokarj dks ekius ds fy, mi;ksx esa yk;k tkrk gS \ 1 

 Which instrument can be used to measure the potential difference ? 

  4. y?kqiFku ds le; ifjiFk esa fo|qr~ /kkjk dk eku % 1 

 (A) cgqr de gks tkrk gS  

 (B) cgqr vf/kd c<+ tkrk gS 

 (C) ifjofrZr ugha gksrk 

 (D) fujarj ifjofrZr gksrk gS 

 At the time of short-circuit, the current in the circuit : 

 (A) reduces substantially  

 (B) increases heavily 

 (C) does not change 

 (D) vary continuously 
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  5. bl ç'u esa nksnksnksnks dFku gSa % vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R), dFkuksa dks i<+dj ç'u ds uhps fn, x, mi;qDr 
fodYi dk p;u djrs gq, mÙkj nhft, % 1 

 vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) : og nwjre fcanq ftl rd dksbZ us= oLrqvksa dks lqLi"V ns[k ldrh gS] us= dk nwj fcanq 
dgykrk gSA 

    dkj.kdkj.kdkj.kdkj.k    (R) : ,d lkekU; us= 25 lseh ls vuar nwjh rd j[kh lHkh oLrqvksa dks lqLi"V ns[k ldrk gSA 

 fodYi %fodYi %fodYi %fodYi %    
 (A) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lR; gS ijarq dkj.k (R) vlR; gSA 

 (D) vfHkdFku (A) vlR; gS ijarq dkj.k (R) lR; gSA 

 This question consists of two statements : Assertion (A) and Reason (R), Read 

the statements and answer the question by selecting the appropriate option 

given below : 

 Assertion (A) : The farthest point upto which the eye can see objects clearly is 

called the far point of the eye. 

 Reason (R) : A normal eye can see objects clearly that are between 25 cm and 

infinity. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true but Reason (R) is false. 

 (D) Assertion (A) is false but Reason (R) is true. 
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  6. fdlh varfj{k ;k=h dks vkdk'k uhys dh vis{kk dkyk D;ksa çrhr gksrk gS \ 2 

 Why does the sky appear dark instead of blue to an astronaut ? 

  7. ?kjsyw fo|qr~-ifjiFkksa esa Js.khØe la;kstu dk mi;ksx D;ksa ughaughaughaugha fd;k tkrk gS \ 2 

 Why is the series arrangement not used for domestic electric circuits ? 

vFkokvFkokvFkokvFkok    

OR 

 fdlh pkyd dk çfrjks/k fdu dkjdksa ij fuHkZj djrk gS \ 

 On what factors does the resistance of a conductor depend ? 

  8. nks pqacdh; {ks= js[kk,¡ ,d-nwljs dks çfrPNsn D;ksa ugha djrha \ 2 

 Why don't two magnetic lines of force intersect each other ? 

  9. mÙky ysal vkSj vory ysal esa rhurhurhurhu varj fy[ksaA 3 

 Write the three differences between Convex lens and Concave lens. 

10. O;k[;k dhft, fd xzg D;ksa ugha fVefVekrs \ 3 

 Explain why the Planets do not twinkle ? 

11. pqacdh; {ks= dks mRiUu djus ds rhurhurhurhu rjhdksa dh lwph cukb,A 3 

 List three methods of producing magnetic fields. 
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vFkokvFkokvFkokvFkok    

OR 

 ¶ysfeax dk okegLr fu;e fyf[k,A 

 State Fleming's left-hand rule. 

[k.M [k.M [k.M [k.M – cccc    
SECTION – B 

¼¼¼¼jlk;ujlk;ujlk;ujlk;u    foKku½foKku½foKku½foKku½    

(Chemistry) 

12. fdl vfHkfØ;k esa nks ;k nks ls vf/kd inkFkZ feydj ,d u;k inkFkZ cukrs gSa \ 1 

 (A) la;kstu vfHkfØ;k  

 (B) fo;kstu vfHkfØ;k 

 (C) foLFkkiu vfHkfØ;k  

 (D) jsMkWDl vfHkfØ;k 

 In which reaction two or more substances combine to form a new single 

substance ? 

 (A) Combination Reactions  

 (B) Decomposition Reactions 

 (C) Displacement Reactions 

 (D) Redox Reactions 
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13. vip dk mipkj djus ds fy, fdl vkS"kf/k dk mi;ksx gksrk gS \ 1 

 (A) çfrtSfod  

 (B) çfrjks/kh 

 (C) ihM+kgkjh 

 (D) ,sUVSflM 

 Which one of the following types of medicines is used for treating indigestion ? 

 (A) Antibiotic  

 (B) Antiseptic 

 (C) Analgesic 

 (D) Antacid 

14. tks /kkrq,¡ dBksj lrg ls Vdjkus ij vkokt mRiUu djrh gSa -------------- dgykrh gSaA 1 

 The metals that produce a sound on striking a hard surface are said to             

be ……………. . 

15. ,sYdksgkWy dk çdk;kZRed lewg D;k gS \ 1 

 What is the functional group of Alcohol ? 
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16. bl ç'u esa nksnksnksnks dFku gSa % vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R), dFkuksa dks i<+dj ç'u ds uhps fn, x, mi;qDr 
fodYi dk p;u djrs gq, mÙkj nhft, % 1 

 vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) : gekjk mnj gkbMªksDyksfjd vEy mRiUu djrk gSA 

    dkj.kdkj.kdkj.kdkj.k    (R) : ;g mnj dks gkfu igq¡pk, fcuk Hkkstu ds ikpu esa lgk;d gksrk gSA 

    fodYi %fodYi %fodYi %fodYi % 

 (A) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lR; gS ijarq dkj.k (R) vlR; gSA 

 (D) vfHkdFku (A) vlR; gS ijarq dkj.k (R) lR; gSA 

 This question consists of two statements : Assertion (A) and Reason (R). Read 

the statements and answer the question by selecting the appropriate option 

given below : 

 Assertion (A) : Our stomach produces hydrochloric acid. 

 Reason (R) : It helps in the digestion of food without harming the stomach. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true but Reason (R) is false. 

 (D) Assertion (A) is false but Reason (R) is true. 
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17. 'olu dks Å"ek{ksih vfHkfØ;k D;ksa dgrs gSa \ 2 

 Why is respiration considered an exothermic reaction ? 

18. lksfM;e dks dsjkslhu esa Mwcksdj D;ksa j[kk tkrk gS \ 2 

 Why is Sodium kept immersed in Kerosene oil ? 

vFkokvFkokvFkokvFkok    

OR 

 ,slh /kkrq dk mnkgj.k nhft, tks % 

 (i) dejs ds rki ij æo gksrh gSA 

 (ii) Å"ek dh dqpkyd gksrh gSA 

 Give an example of a metal which : 

 (i) is a liquid at room temperature. 

 (ii) is a poor conductor of heat. 

19. gkbMªkstuhdj.k D;k gS \ bldk vkS|ksfxd vuqç;ksx D;k gS \ 2 

 What is Hydrogenation ? What is its industrial application ? 

20. /kkou lksMk ds rhurhurhurhu çeq[k mi;ksx fy[ksaA 3 

 Give three important uses of Washing Soda. 
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21. fuEufyf[kr inksa dks ifjHkkf"kr dhft, %   3 

 (i) vk?kkro/;Zrk 

 (ii) rU;rk 

 (iii) [kfut 

 Define the following terms : 

 (i) Malleability 

 (ii) Ductility 

 (iii) Mineral 

22. HkkSfrd xq.k/keks± ds vk/kkj ij ,FkukWy ,oa ,FksukWbd vEy esa rhurhurhurhu varj fy[ksaA 3 

 Write three differences between Ethanol and Ethanoic acid on the basis of their 

physical properties. 

vFkokvFkokvFkokvFkok    

OR 

 çfrLFkkiu vfHkfØ;k D;k gS \ mnkgj.k ds lkFk le>kb,A 

 What is Substitution Reaction ? Explain with an example. 
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[k.M [k.M [k.M [k.M – llll    

SECTION – C 

¼¼¼¼tho foKkutho foKkutho foKkutho foKku½½½½ 

(Life Science) 

23. Loiks"kh iks"k.k ds fy, vko';d gS %   1 

 (A) DyksjksfQy 

 (B) dkcZu MkbvkWDlkbM 

 (C) lw;Z dk çdk'k 

 (D) mijksDr lHkh 

 The autotrophic mode of nutrition requires : 

 (A) Chlorophyll  

 (B) Carbon dioxide 

 (C) Sunlight  

 (D) All of the above 

24. fuEufyf[kr esa ls dkSu-lk ikni gkWeksZu gS \   1 

 (A) balqfyu (B) lkbVksdkbfuu 

 (C) Fkk;jkWfDlu (D) vkWbLVªkstu 
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 Which of the following is a plant hormone ? 

 (A) Insulin (B) Cytokinin 

 (C) Thyroxin (D) Oestrogen 

25. iq#"kksa esa -------------- xq.klw= gksrs gSaA   1 

 ………………. chromosomes are present in male. 

26. nksnksnksnks thok.kq tfur jksxksa ds uke fy[ksaA   1 

 Write the name of two bacterial infectious diseases. 

27. bl ç'u esa nksnksnksnks dFku gSa % vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R), dFkuksa dks i<+dj ç'u ds uhps fn, x, mi;qDr 
fodYi dk p;u djrs gq, mÙkj nhft,A 1 

 vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) : Hkzw.k dks ek¡ ds #f/kj ls gh iks"k.k feyrk gS] blds fy, ,d fo'ks"k lajpuk gksrh gS] ftls 
IySlsaVk dgrs gSaA 

    dkj.kdkj.kdkj.kdkj.k    (R) : IySlsaVk ,d r'rjhuqek lajpuk gS tks xHkkZ'k; dh fHkfÙk esa /k¡lh gksrh gSA 

 fodYi %fodYi %fodYi %fodYi %    

 (A) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) o dkj.k (R) nksuksa lR; gSa ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lR; gS ijarq dkj.k (R) vlR; gSA 

 (D) vfHkdFku (A) vlR; gS ijarq dkj.k (R) lR; gSA 
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 This question consists of two statements : Assertion (A) and Reason (R). Read 

the statements and answer the question by selecting the appropriate option 

given below : 

 Assertion (A) : The embryo gets nutrition from the mother's blood with the help 

of a special tissue called placenta. 

 Reason (R) : Placenta is a disc which is embedded in the uterine wall. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 

explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false. 

 (D) Assertion (A) is false, but Reason (R) is true. 

28. ;kSoukjaHk ds le; yM+fd;ksa esa dkSu-ls ifjorZu fn[kkbZ nsrs gaS \ 2 

 What are the changes seen in girls at the time of puberty ? 

vFkokvFkokvFkokvFkok    

OR 

 xHkZfujks/kd ;qfDr;k¡ viukus ds D;k dkj.k gks ldrs gSa \ 

 What could be the reasons for adopting contraceptive methods ? 

29. iks"kh Lrj D;k gS \ ,d vkgkj Ük`a[kyk dk mnkgj.k nhft,A 2  

 What are Trophic Levels ? Give an example of a food chain. 
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30. vxzefLr"d ds rhurhurhurhu  dk;Z fy[ksaA   3 

 Write the three functions of Forebrain. 

vFkokvFkokvFkokvFkok    

OR 

 raf=dk dksf'kdk ¼U;wjkWu½ ds dk;ks± dk o.kZu dhft,A 

 Explain the functions of Neuron. 

31. esaMy ds ç;ksxksa }kjk dSls irk pyk fd y{k.k çHkkoh vFkok vçHkkoh gksrs gSa \ 3 

 How do Mendel's experiments show that traits may be dominant or recessive ? 

32. (i) ok;oh; rFkk vok;oh; 'olu esa rhurhurhurhu varj fy[ksaA 3 

  Write the three differences between Aerobic and Anaerobic Respiration. 

 (ii) çdk'k-la'ys"k.k ds fy, vko';d dPph lkexzh ikS/kk dgk¡ ls çkIr djrk gS \ 2 

  Where do plants get each of the raw materials required for Photosynthesis ? 

vFkokvFkokvFkokvFkok    

OR 
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 (i) euq";ksa esa vkWDlhtu rFkk dkcZu MkbvkWDlkbM dk ifjogu dSls gksrk gS \  

  How is oxygen and carbon dioxide transported in human beings ? 

 (ii) Loiks"kh iks"k.k ds fy, vko';d ifjfLFkfr;k¡ dkSu-lh gSa \  

  What are the necessary conditions for autotrophic nutrition ? 
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